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2E(9) COVID-19 test result
i fi | pi LH RH Validity  p; LH RH Validity R,
1 4 1 04 0.6*1 049 ] 0.4 0.6*0 X 1
2 4 1 02 080 04 X 0.6 0.4*1 X 0
3 4 1 03 07*0 046 X 0.6 0.4*1 X 0
4 4 1 04 0.6*1 049 0 0.6 0.4*1 X 1
5 2 1 03 07*0 0.46 X 0.6 04*1 0.49 X 0
6 2 1 01 09*0 03 X 0.4 0.6*0 X 0
7 2 1 04 06*0 049 X 0.6 0.4*0 X 0
8 2 1 03 07*0 046 X 0.4 0.6*1 0 1
9 1 1 04 06*0 049 X 0.6 0.4*1 X 0
0 1 0 - - - - - - - - -

Table 1: Of|A| XF20i| CHEE A| A At
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Table 2: £X}3| 7| 2S 0|2%t SURVEY EST M$ Q| 1| 74X| gt

X 5% X3 % Xs

1 | SUMMAT_CD SEX WORKER_T EMP_T BIS_MNTH
SWR Reg CART CART CART

) SEX WORKER_T  EMP_T  SUMMAT_CD BIS_MNTH
SWR CART CART CART CART

3 SEX WORKER_T  EMP_T  SUMMAT_CD BIS_MNTH
SWR CART-S CART-S Reg CART-S

4 SEX WORKER_T  EMP_T  SUMMAT_CD BIS_MNTH
SWR CART-S CART-S CART-S CART-S
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Standardized
EIIoNE: 3 !
29| PMSE 12]7|8Hx] e Alaa et al. (2022)

LR CART KLD WD -precision B-recall
#1 Synthpopy Synthpopg Synthpop; Synthpopy Synthpop, Synthpop, Synthpop;
#2 Synthpopy Synthpopy Synthpop, Synthpop, Synthpopg Synthpopg Synthpopg

#3 Synthpop, Synthpopy Synthpopg Synthpopg Bayes Bayes Bayes
#4 Synthpopg Synthpop, Synthpopy Synthpopy Synthpopy Synthpopy Synthpopy
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#6 TVAE CTGAN TVAE CTGAN CTGAN TVAE CTGAN
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